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Answer all 3 (three) questions. Figures in the right margin indicate full marks of questions whereas
corresponding CO and PO are written within parentheses.

1. @) Inacricket game, a batsman can score 0 to 6 runs in a single delivery of aball. Ifabatsman 15
scores 4 runs in a single delivery, it i called a “boundary”, i the batsman scores 6 runs, itis  (C03)
called an “over-boundary”. You will be given a sequence of runs scored by a batsman, your  (pO1)
goal s to count how many boundaries and over-boundaries are scored by the batsman. A
negative run indicates the end of the input. A sample input and output is given in Table 1

‘Table 1: Sample input and outpu for Question 1.a)

sample Input | Sample Output

1 Boundaries: 2

2 Over boundaries: 1

4

a

6

1

b) An umpire makes important decisions during a cricket match. Sometimes the decision of 10

an umpire can be changed by a reviewer with the help of a computer. A simplified rule for ~ (c03)
reviewing an LBW out is provided below: (o

+ An LBW out depends on 3 factors (pitch, impact, and hit)
« If the original decision by an umpire i
if at least 2 o the factors are wrong.

“out”, then the decision is changed to “not-out”

« If the original decision of an umpire is “not-out”, then the decision is changed o “out”
ifany of the 3 factors is correct
‘You will be provided with the original decision of an umpire (O for out, N for not out) and
the status of the three factors (1 means correct, 0 means wrong). You have to print the final
decision (Out or Not-Out). You need to solve the problem for one input set only.
Some sample input and output pairs are given in Table 2.

‘Table 2: Sample input and output pairs for Question 1.b)

Sample Input | Sample Output
o101 |ou
0001 | NotOut
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) Mr. Y was asked to write a program that reads at most 100 integer values from the user. 10
The program stops reading numbers if the user provides a negative number as input. The ~ (C02)
program then prints all the numbers (except the negative number) in the reverse order of - (02)

their input sequence. For example: Ifthe user p “5104-2" asinput,

will print 4 10 5”. An attempt to solve the problem is given in Code Snippet 1

)
while (i>0) {

10 printf("3d ", 6ar(il);
n .

2 )

13 return 0.

1

|

Code Snippet 1: A C program for Question 2.2)

Due to some errors, the program is not behaving the way it was expected to behave. Fix the

errors and rewrite the program, so that it produces the desired output.
b) Consider the program given in Code Snippet

10 |printe(® M

"

13
14 |printe(\n") ;

printf("s");

15 [printf("\n");
16 |zeturn 0;
17 |3

|}

9
— (coz)
(02

Code Snippet 2: A C program for Question 2.b)

Rearrange the given lines of codes, so that it prints the shape given in Figure 1
remove or modify any given lines of codes.
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Figure 1: Expected shape to print for Question 2.b)

©) For each of the following cases, consider the variables are initialized as below: ax1s
int a=0,b=1, b
(eon)
Lif(a =111 (b=10) && (c=12))
(b=10) && (e=12))
I e
i if( ++a || b && -c)

Find whether each of the conditions are true or false. Also, find the updated values of the
variable after evaluating the expression.

3. a) Imagine a cricket game where the number of balls to be bowled in an over is not fixed. The 15
N over requires N balls to be bowled (For example, 1 over needs 1 ball, 2* over needs 2 (c03)
balls, 3" over needs 3 balls, etc.). Given the total number of balls bowled in a match, you (p0z)
have to print the number of complete overs bowled and the number of balls bowled in the
last incomplete over.

For example: If a total of 8 balls are bowled, then 3 complete overs require (14243) 6 balls
and 2 balls are bowled for the last incomplete over. So the output will be "Over: 3.2". Some
sample input and output pairs are given in Table 3.

‘Table 3: Sample input and output pairs for Question 3.a)

Sample Input | Sample Output
] o
0 0
20 Over: 5.5

b) A digital scoreboard in a cricket field is used to display various information about a game 10
including information about each player. Assume fora cricket match, we only have the birth (03
date of each player, but we want to display their current age on the current date. Given the  (702)
birth date of a player in the format: day-month-year (.., 12-04-1988), your goal is to print
his/her age (including days and months) on the current date. Consider that a year always
consists of 365 day
For example: ifa player’s date of birth is 12-04-1988, then on 4/* October 2023 (04-10-2023),
his/her age will be 35 years, 5 months, and 22 days. Some sample input and output pairs are
given in Table 4.

‘Table 4: Sample input and output for Question 3.5)

Sample Input Sample Output

124-1988 | Age: 35 years, 5 months, 22 days
2893023 | Age: O years, 0 months, 6 days
023 | Age: Oyears, 1 months, 6days
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